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angle of incidence
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power
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                                  sin c c critical angle                                     (Higher Tier only)
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periodic time
frequency
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moment of the force
force
perpendicular distance from the line of action of the 
force to the pivot
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pressure
force
cross-sectional area
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Vp
Vs
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potential difference across the primary coil
potential difference across the secondary coil
number of turns on the primary coil
number of turns on the secondary coil

Vp × lp = Vs × ls

Vp
lp
Vs
ls

potential difference across the primary coil
current in the primary coil
potential difference across the secondary coil
current in the secondary coil
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